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QUESTION 1

A system administrator needs to configure a new way to manage applications using the monitored directory deployment
feature. How can the administrator enable it? The feature...

A. can only be enabled in the Integrated Solutions Console (ISC).

B. can be enabled using the Integrated Solutions Console (ISC) or wsadmin.

C. is only available for a stand-alone server profile and is enabled by default.

D. is enabled by default for both a stand-alone and network deployment editions.

Correct Answer: B

QUESTION 2

An application is deployed to a WebSphere Application Server ND V8.0 cluster consisting of four cluster members.
Assuming the cluster is stopped, what should a system administrator do to delete the cluster?

A. Delete the cluster.

B. Remove the cluster members and delete the cluster.

C. Uninstall the application and delete the cluster.

D. Uninstall the application, remove the cluster members and delete the cluster.

Correct Answer: A

QUESTION 3

A system administrator needs to install an enhanced EAR file using the Integrated Solutions Console (ISC). Which
option must the administrator select to use the application-scoped resources?

A. Deploy application resources

B. Create MBeans for resources

C. Process embedded configuration
D. Precompile JavaServer Pages files

Correct Answer: C
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QUESTION 4

A system administrator needs to modify the Java 2 security permissions for applications running on a server. How
should the administrator perform this task?

A. Use the PolicyTool.

B. Use the iKeyman tool.
C. Edit the was.policy file.
D. Edit the security.xml file.

Correct Answer: A

QUESTION 5

A system administrator must deploy a new application that uses Java 2 security. There are several applications installed
in the cell that use application security but not Java 2 security. How can the administrator enable support for Java 2
security without affecting the other applications?

A. Enable Java 2 security at the cell level and grant permissions only to the new application.

B. Configure a security domain with Java 2 security enabled for the application server that will host the new application.

C. Configure a security domain for the other applications in the cell with both Java 2 security enabled and application
security.

D. Disable global security and configure a security domain with Java 2 security enabled for the application server that
will host the new application.

Correct Answer: B

QUESTION 6

A system administrator needs to monitor a transaction and determine how much time it spends in the web container,
EJB container, and backend database. Which tool should the administrator use to gather response times for each
component?

A. Request metrics

B. Performance servlet

C. Thread Pool Summary Report

D. Runtime Performance and Diagnostic Advisor
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Correct Answer: A

QUESTION 7

A system administrator creates a profile and selects the option to allow WebSphere Application Server to create the
default certificate. After the certificate is created, what attributes can the administrator customize, if needed?

A. location and lifespan of the certificate

B. location, type, and password of the keystore

C. Distinguished name (DN) and lifespan of the certificate
D. Distinguished name (DN) and password of the keystore

Correct Answer: C

QUESTION 8

A system administrator is creating a new WebSphere cell consisting of three dedicated machines: ?web server
?deployment manager ?application server node To provide process level failover, the administrator should create a
cluster with:

A. no scaling

B. vertical scaling

C. horizontal scaling

D. horizontal and vertical scaling

Correct Answer: B

QUESTION 9

A system administrator configures the intelligent runtime provisioning feature included with WebSphere Application
Server Network Deployment V8.0. The default WebSphere settings are in place. At what level will the administrator
enable runtime provisioning?

A. node agent

B. web container

C. application server

D. deployment manager

C9510-317 VCE Dumps | C9510-317 Practice Test | C9510-317 Exam Questions 417


https://www.pass2lead.com/c9510-317.html
https://www.pass2lead.com/c9510-317.html
https://www.pass2lead.com/c9510-317.html

P 2L d https://lwww.pass2lead.com/c9510-317.html
aSS ea 2023 Latest pass2lead C9510-317 PDF and VCE dumps Download

—— https://Pass2Lead.com

Correct Answer: C

QUESTION 10

Management is concerned about secure communication when using WebSphere Proxy Server. How can the system
administrator provide additional security to the base proxy configuration?

A. Disable File Transfer Protocol (FTP).

B. Enable proxy authentication and authorization.
C. Implement Secure Shell (SSH) communication.
D. Configure Secure Sockets Layer (SSL) transport.

Correct Answer: D

QUESTION 11

A system administrator has completed a WebSphere installation using the IBM Installation Manager. Which tool, using
the default settings, can the administrator use to generate an HTML file verifying the version of WebSphere installed?
Execute the:

A. postinstall command.

B. versioninfo command.

C. genVersionReport command.

D. Installation Verification Tool (IVT).

Correct Answer: C

QUESTION 12

A remote host machine has been registered to a job manager as a target, and the IBM Installation Manager has been
installed on the host. How can an administrator install WebSphere Application Server Network Deployment V8.0 on the
remote host?

A. Use the job manager to schedule a "Manage offerings" job.

B. Schedule a "Distribute file" job to push the installation response file to the remote host.

C. Schedule a "Start application” job to launch the IBM Installation Manager on the remote host.
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D. Use the Installation Factory to create a Centralized Installation Manager (CIM) repository on the remote host.

Correct Answer: A

QUESTION 13
Consider the Exhibit,

= Details

Size 1.1 GB Classes 16.5k Objects 12.5m Class Loader 601

= Biggest Objects by Retalned Size

443 7 M8

1222 MB

433 3 M8

85 7 HB

Total: 1.1 GB

java.util.Vector  0x70000000e35%chbd0
Shallow Size 48 B Retaned Size 443.7 MB

a report generated by the IBM Support Assistant (ISA) that reveals a prevailing problem within a WebSphere Application
Server environment. What should the administrator do?

A. Increase the amount of physical memory for the server.

B. Ensure that all connections taken from the data source are returned to the pool.

C. Determine why the collection class increases in size and consumes memory.

D. Modify the application so it uses stateless instead of stateful session beans to conserve the heap.

Correct Answer: C

QUESTION 14
A system administrator needs to retrieve information pertaining to the application \Vappname\\' using the scripting
capabilities of WebSphere Application Server Network Deployment V8.0. What wsadmin command should the

administrator execute?

A. AdminApp.list(\\'appname\\’)
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B. AdminApp.view(\\'appname\\')
C. AdminApp.export(\\'appname\\’)
D. AdminApp.options(\'appname\\')

Correct Answer: B

QUESTION 15

A system administrator needs to install the IBM Installation Manager (1IM) using non- graphical interactive mode. To
perform this operation, what should the administrator run?

A.imcl -c

B. imcl -s

C. imcl -install

D. imcl -updateAll

Correct Answer: A
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